A x, y ofl thste] 3x + 2y =0 1 TATE U2 o, o= A1) 327

3xy Xy
2x2 +y2  3x2-—y?

16 52
@ o @1 ® -1 @1—7 @—ﬁ



o 4

=
o

oA i A] ot o 227

Ss—a

@ t=

v
® s=vt+a




100 9#H=, 500 A&, 1000 9= 7F 5 gsto] 127071 912 o,
3700 Y& A Eot= W2 25 2 7HQIVE? (d, 4 ST A Hl=
17] o] Abg-gttt)

@ 3714 @ 47}A ® 5714
@ 6714 ® 7714



1 oA 10 74A1 2] S22447F A7 10 2] 7F=7F it o] Zh=ofA]
FS B, 49 W B 5 ] B4 LS A9 Sk

@ 3 714 @ 4 714 ® 5 714
@ 6 714 ® 7 714



Bl A 27} 5%, viA] 7} 4% Q1S .
27E2] QA7

v @ 10 7k ® 12 714

@ 15 7HA ® 20 717



2 4, (8% + 120?) + (=2)%xy = (9xy = 6y%) = 3y ]

®@-5  ©®-13 @5 ® 10



dx+ 11y +17=9x+ 10y + 15 W x—y+ 2 & x o] T Aoz
e Y

DO x+1 @ -2x+2 ® -3x+3

@ —4x+4 ® -5x+5



gl ] Zol7t 20

ok )
o T
o W
NEaY
2
B o]
o <r
o} ﬂﬁ
o) w

iy 1
S

oo

® b=2a-20

@ b=-2a-20

® b

® b=2a+20

@ b

—10a + 2

—2a + 20



6914 1571219 57} HQ FA=ol A @ Fe] 7HES Be ), 1 7hs
o 57b 100 & 71 ok 90 £8 FopE?

@ 5714 @ 674 ® 7714
@ 87HA] ® 10714



-
o,

2 3

o] 27FA]7F QA
1

10. AollA 2 7h= A mAle] 3742, A5k A
e 25 97t

B AL} A5k8 S ol gotod Aol A stz 7}
79172

*

® 2714 @ 3714 ® 4714
@ 5714 ® 6714



11.

FA9) 5 NS FAlG WAL W, o] Kol = 4] o] ko 5]

N
=7

O 24 @ 20 ® 18 @ 12 ® 11



12.

= A9 ZAIE A 1, o] o

@ 77HA @ 874
@ 10714 ® 117H4]



13. th& 7} ol F3e] o] 374 k. o) Sol 2 ) A8
202 1o pErhy, FFYe] St ek A9k BE
% 79I

s

o

o020
00

©)

@ 3 7H4] @ 4 7H4] ® 5714
@ 6 717 ® 7714






oy o~
CAN

O %
% _qa._%m,)m
na
;ﬂmﬂ_muh_.
.mﬂlL. ol
lﬂﬁmﬁy
N <A
Mn_,/hmlo#
5 5o
__o‘_‘b_EﬁA L_L
(IR
X Wim
ﬂw%m
M_U_W:_Eﬂu.
1jo ‘,W
QEQﬁ
Jw s
ﬂaﬂhﬂjw
H_a@wm i
:ALLI
=
TERDL
7WA 2_XL.AT
oju LME,MuﬂA
w@nﬁ.%ﬂﬂ.
SIS :
34%%%
. 1DLm_-wo
T}

@ 3714
® 67
1A

® 9714

@ 1714
@ 8714



